ZonaSporta.com

y R ke

HNHCTPpYKIIUSA
Mamuna Cmura Body Solid GS348

ITone3HbIE CCHIIKHU:

Mamuaa CMmuTta Body Solid GS348 - cMoTpeTh Ha cauTe

MamnHa Cmuta Body Solid GS348 - ynTaTh OT3LIBH



https://zonasporta.com/
https://zonasporta.com/product/mashina-smita-body-solid-gs348
https://zonasporta.com/mashina-smita-body-solid-gs348_otzyvy

Assembly n Instructions

GS-348Q OWNER 'S MANUAL




GS348Q PARTS
(shown in actual size)

G [1PCS]
A\ = = A\
i N
\ \
| [1PCS] J [1PCS] K [1PCS] L [2PCS]

N [1PCS] O [1PCS] R [2PCS] S [4PCS]

8312-091

/ /

NI - = RN =P

P [2PCS] -0
8280-018

Q [1PCS]
8343-056

4 S -3

T[1PCS]
8343-056

U [1PCS]

HEQ )




A[1PCS]

GS348Q PARTS

(shown in actual

E [1PCS]

VA

\y s
F [6PCS]
-

N

H[1PCS]




GS348Q HARDWARE
shown In actua slze

D1.50X75 End Cad(9211-084)----------mrmmrmemmemmememne [2PCS]
D2.449.5X Round End Cap(9211-074)-----------=------ [8PCS]
D3.41"Shaft Collar(9211-064)----------<--<--rmcmmemeememmee- [2PCS]
D4.42 1/2"X#26 Rubber Dount(9310-012)--------------- [2PCS]
D5.290X10t Rubber Dount(9310-016)--------------------- [4PCS]
D6.38X325 Rubber Bar Catch(9310-042)----------------- [2PCS]
D7.45X70 Tape(9440-068)----------<--=mrmmrmrememmemenme- [12PCS]
D8.426 Round End Cap(9211-069)---------<--------x--- [2PCS]




GS348Q HARDWARE
(shown in actual size)

B1.M12 Nylon Lock Nut------------------

O [E

B2.M10 Nylon Lock Nut------------------

© =

C1.M12(1.D) WASHER ¢34-------------

©

C2.M10(1.D) WASHER ¢27------------

©

............... [22PCS]

.................. [2PCS]

................ [60PCS]

.................. [4PCS]




(shown in actual size)

A1l. M12X25L Inner Hex Screw------------------------ [2PCS]
N
_(
v

A2. M12X70L Hex Head Bolt----------------ecmcmemee [6PCS]

A3. M12X80L Hex Head Bolt-------=-=-=-m-mommememeev [16PCS]

A4. M12X85L Hex Head Bolt--------------------oo--- [4PCS]

A5.M12X90LHex Head Bolt----------======-mrmmmmmee- [4PCS]

T

AB. M10X70L Hex Head Bolt---------------x-mmemee- [2PCS]

NRREnni

A7. M12X75L Hex Head Bolt--------------mcmezmea [2PCS]

GS348Q HARDWARE




GS348Q
Above show STEP 1
assembled and completed




GS348Q
Above show STEP 2
assembled and completed




L
NV al

GS348Q ©
Above show STEP 3
assembled and completed

B2

c2




GS348Q
Above show STEP 4
assembled and completed

A2
k Ct
\A\ - S ‘

Bl [
L [ o\
[ [ Lo
. [ |e]
[ ) [ ]
| o] [
[ L [
| B2 [
) “\/ [ ]
//// g k/ ‘ ‘ |
||
[ ] |
[ Le
| LD‘Cj




GS348Q U
Above show STEP 5
assembled and completed




GS348Q !
Above show STEP 6 P
assembled and completed P




) NN NN AN YNNI YN \\u’\.
7 4 = 3 K A\
[T A NN

assembled and completed

Above show STEP 7




Above show STEP 8

assembled and completed

J

\

D7X6

\ W

AN AN AN N AN AN
! L L ,C\ LN C\ oL




J . 5":”"”D2X2

Above show STEP 9

assembled and completed




EXPLODED VIEW
DIAGRAM
GS348Q




